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 0ो� / NOTE : 
(I) �L +0> $>?" �1 िO }� �@ �� )-+} /O /J}?? +L� 19 AK । 
 Please check that this question paper contains 19 printed pages. 

(II) �� )-+} /O />}A)O A>} �ी �1 }/ए �ए �� )-+} �K) �K +1I�>}I �m1-+J}-?�> �O  /J�-+L� +1 
}ि�O । 

 Q.P. Code given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

(III) �L +0> $>?" �1 िO }� �@ �� )-+} /O 18 �� ) AK । 
 Please check that this question paper contains 18 questions.  

(IV) �K प0? ्䵚� 0 �? उ्䵈1 ;ल�0? >Iरあ �10े @े पAले, उ्䵈1-पI;त?�? /े䜂 0-? त-?0 प1 ्䵚� 0 �? 
्䵅/?�� अ=�0 ;ल�े䜂 । 

 Please write down the Serial Number of the question in the  
answer-book at the given place before attempting it. 

(V) �@ �� )-+} �K +ढ∼)O �O  }िए 15 }/)� �> @/0 }/0> �0> AP । �� )-+} �> }=?1+ +K=>?्䵡 /O  
10.15 -$O }�0> $>ए�> । 10.15 -$O @O 10.30 -$O ?� +1I�>}I �O =ि �� )-+} �K +ढ∼O�O �1 
�@ 
=}? �O  /L1>) =O �m1-+J}-?�> +1 �K� �m1 )AK }ि�O�O । 

 15 minute time has been allotted to read this question paper. The 
question paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the candidates will read the question paper only and will not 
write any answer on the answer-book during this period. 
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General Instructions : 

Question paper is divided into 4 sections. 

It has total 18 questions. 

Section A  – 1 Question no. 1 

Section B  – 3 Questions no. 2 to 4 

Section C  – 4 Questions no. 5 to 8 

Section D  – 10 Questions no. 9 to 18 

Attempt questions as per specific instructions. 

Write question no. in answer book before attempting it. 

 

 

स?/?न⡍0 )ि्䵖े>?:  

अ0म.? ््䵚श㙍 ?प्䵔े "m=?1: �ण⍍ड/: स0-- ।   

अ0म.? ््䵚श㙍 ?प्䵔े अ्䵖//? (18) ्䵚श㙍 ?/: स0-- ।   

 �oड: 8�9 – 1 – ्䵚श㙍 ?संखᙍ// 1  

 �oड: 8�9 – 3 – ्䵚श㙍 ?संखᙍ// 2 – 4 

 �oड: 8�9 – 4 – ्䵚श㙍 ?संखᙍ// 5 – 8 

 �oड: 8 9 – 10 – ्䵚श㙍 ?संखᙍ// 9 – 18  

0?0?्䵖-0?/?े/?Jस/िं ्䵚श㙍 ?/: स./}े//: ।  

उ्䵈िपJ0म-�///ं ले�?/- ्पK?� स??्䵚..ं ्䵚श㙍 ?संखᙍ// ले�?I// ।  
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�o): 8�9 
                                           अप;???�>-अ=-ो/0/ ् 10 अ!्�?: 

अप;???�> अ=-ो/0  
 Unseen Reading Comprehension 

1. 
?K}ि}�?� �o>�>� +}?m=> �/m�� )>)>/M �m1>}+ @�-�L ?O) }ि�? ।  
 })o)}ि}�? �o>�> �K +ढ∼�1 }/0O �ए �� )K �O  �m1 @�-�L ? /O }ि}�ए ।  
 Read the following passage and answer the given questions in Sanskrit. 

@O=> 
-/>��  +1/?/?: । @O=>0>: 
0/M ए= 
}?�>0: 0?M />)=: +1-+1� @o0�M z+O+ @>A>o0� �J 0>??M । 
@=K }A }=}=?z+O+ @�/: । -=�/?0> +1Om0: @A0K�-�/>)O) }A $I=)-0 @>}?]0� ?=}? । @O=> 
}?}=?> ?=}? – +>1/>}}?�ी िL}��ी " । +>1/>}}?�-@O=0> /A>m/>): $)Om0: _>)� 0चᩍ#}-? । ?O ?O?>� 
/K?})=>1+>}� +>1-+र1��  =P/)-0� " /K1I�?J� �0?-?O । @>�@>र1�@o--?O?J िL}��@O=>0> 
}+ /Am=/M 
}=o?O । ए�-0 
@A>0-0 @O=> िL}��ी @O=> ?=}? । 
)0> @/>$O >K?)>: @o--?>: $>0-?O । 
$)>)>� @/-0>)>� @/>?>)/M 
}+ ?=}? । $)>: @/P= ए?/O= }"-?0-?J – 0/M 0>=/M =0� -=-}>: 
@�/>: ?>=/M 
-/>��  +1/� �??}0� @>/>}$� @O=> ?=O}/}? । =-?J?: 
0/O= />)=I0?/?: ।  
्䵚� 0?:  

(
) ए�+/O) �m1? : (�O =ि� �� )?0/M) 
 ए� >m/ /O �m1 /I}$ए : (�O =ि /K �� ))  
 Answer in one word : (Only two questions) 21=2 

(i) />)=: +1-+1� @o0�M  }��  �J 0>??M ? 
(ii) /A>m/>): $)Om0: }��  0चᩍ#}-? ? 
(iii) िL}��ी @O=0> @/>$O �ीo>>: @o--?>: $>0-?O ? 

(�) +K+?=>]0O) �m1? : (�O =ि� �� )?0/M) 
 +K+? =>]0 /O �m1 /I}$ए : (�O =ि /K �� ))  
 Answer in a complete sentence : (Only two questions)  22=4 

(i) @O=>0>: �: 
}?�>0: ? 
(ii) �-0 @O=> िL}��ी @O=> ?=}? ? 
(iii) $)>: @/P= }��  }"-?0-?J ? 

(�) 
-0 
)Jचᩍ#O/-0 }?}}>m/>m/��  @/J}"?� >I??��  }ि�? । 
 �@ 
)Jचᩍ#O/ �> /K 0> ?I) >m/K /O �}"? >I??� }ि}�ए ।  
 Write a suitable title for this passage in two or three words. 11=1 
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(�) 0}>})/O>/M �m1? : (�O =ि� �� )}0/M) 
 })/O>>)J@>1 �m1 /I}$ए : (�O =ि ?I) �� ))  
 Answer as directed : (Only three questions) 31=3 

(i) 8=P/)-0�9 �}? +/-0 }=>O?++/� }")J? : 
(A) +>1-+र1�/M    
(B) @>}?]0/M   
(C) =0/M   
(D) 
-/>�/M     

(ii) +>1/>}}?�-@O=0> /A>m/>): $)Om0: _>)� 0चᩍ#}-? । 
} 8/A>m/>):9 �}? �?L?+/-0 
}ि0>+/� }��  �0J्䴹/M ? 
(A) +>1/>}}?�-@O=0>  
(B) 0चᩍ#}-?     
(C) $)Om0:  
(D) _>)/M     

(iii) 8
�/:9 �}? +/-0 }=िK/+/� }")J? :  
(A) -=-}:      
(B) @>}?]0/M  
(C) @>A>o0/M  
(D) @�/:  

(iv) 8?O ?O?>� /K?})=>1+>}� �0?-?O9 
} =>]0O 8?O9 �}? @=?)>/+/� �O m0: �0J्䴹/M ? 
(A) 8$)Om0:9  
(B) 8/A>m/>):9 �}? �L ?O 
(C) 8@O=>0>:9 �}? �L ?O 
(D) />)=Om0:  
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    �o): 8�9 
                                           1च0?m/�-�?0य/ ् 15 अ!्�?: 
                                           1च0?m/� �?0य 
           Writing Skills 

2. ?=?I ्䵦J}?: । ?=m@�I /J�-� )�1O =@}? । ?=m0>: }=o>ि0O ए�> +0>?=1+�K�I @ञṍ$>?> । �K�K 
=+?0-?I ्䵦J}?: -=@�K /I)>�K �}? +}� }ि�}? । 
}-/)M +}O र1्䴹-}>)>}) /ञṍ$K?>+/P: +K1}0m=> 
+}� +J): }ि�? ।  

 �+ ्䵦J}? AK । �+�ी @�I /J�-� )�1 /O 1A?I AP । �+�O  }=o>ि0 /O ए� +0>?=1+ �K�I AI� }I । 
�K�I �> =+?) �1?O AIए �+ 
+)I @�I /I)>�I �K +} }ि� 1AI AK । �@ +} /O }/ए �ए र1्䴹 
-}>)K �K /ञṍ$K?> �O  +/K �ी @A>0?> @O +K+? �1 +} �K +J): }ि}�ए ।  

 You are Shruti. Your friend live in Mumbai. A seminar on environment 
was organised in your school. Describing the seminar Shruti wrote a 
letter to Meenakshi. Fill in the blanks in the letter from the words given 
in the box and rewrite the same.  10

1

2
=5  

प्䵔/ ्
}/ल㉍िI?: 

 }/)>!M�: ________ 

}�0@}� (i) ________ !   

      @�O/ (ii) ________ ! 

 �?@्䵎>AO 
-/>��  }=o>ि0O +0>?=1+}=?0O ए�> +0>?=1+�K�I @o+-)> । ?-0>� 
/A>)�1O?J �=??/>)� (iii) __________ o�M=> (iv) __________ 1�+>0 ?-0 �+>0>)>� 
}=?0O (v) ________ -=}=">1>: ��}�?>: । ?O 
�}0)M 0?M +>र1=>र1�P : (vi) _______ 

1m0>@J 
=�1: ) �O्䵎}0: । $ि�/K?+� /K1I�?J� )�1+>}ि�>0>: (vii) __________ 

@K")I0>: । $)>)>� �-K?)>0 0}>-}>)� 8$ि/O= $I=)�9 8=L�>: 1�+I0>:9 �m0>}/�>: 
िO�+रि�>: -}>+}0?}0>: । =>}��>@J, �o>)O?J }=o>ि0O?J " =L�>:  
(viii) __________ । o=})�@>1�-0-}>+>� �0K�: 0}>>]0� ) }=?>?}0: ।  

}-/)M }=?0O ?=}?o>ि0O 0}/ ए?>o>I �K�I ?=O?M ?}A? (ix) ___________ ।  
}+?Lm0>� )/: ।  
?=m0>: @�I  
(x) ___________ । 

/ञṍजJ?? 

 

)/-?O, /I)>}� !, �/K?+�, =P_>})�P :, ्䵦J}?:, +0>?=1+-0, @/-0P:, 1K++I0>:, 

}?�>र1+:, @K"}0?}0> ।  
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3. (�) /ञṍ$K?>0>� �/m>m/>)>� @A>0?0> 
?K}ि}�?-ि J�}>0>� र1्䴹-}>)>}) +K1}0m=> �}>� 
+J): }ि�? ।  

  /ञṍ$K?> /O }/ए �ए >m/K �ी @A>0?> @O )I"O }ि�I ि J�}> /O र1्䴹 -}>) ?1�1 �}> �K 
+J): }ि}�ए ।   

 Complete the blanks of the following short story, with the help of 

the words given in the box below and rewrite the same. 10 1

2
=5 

�}-/�}ि/M ्䵇>/O �ि) (i) ___________ =L्䵍: ��=L�-0 �1K++� �1K}? -/ । ?/P=  
(ii) ___________ ��?: �ि) 0J=> ?� =L्䵍/M o�M=> (iii) ___________ “?K =L्䵍 ! 
��=L�>: ?J �>0: ?>/>=?>?)-?1� (iv) ___________ । ?= 
=-}>� (v) _________ ?J 
�?I0?O 0?M 0/> 
0� =L�: (vi) _________ />-0}?, ?/> m=� $I}=?: )  
(vii) ____________ । 
?: =L}> (viii) ___________ ? ए??M })>o0 =L्䵍: ?} 
,ि0J्䴹>)M =L�>)M />?}0 m=> (ix) _________ “0}> /0> 
-0P: �1K}+?>)>� =L�>+>� 
,ि>}) �>}/?>}), ए=/O= 
-0O=}+ /0> �1K}+?>)>� =L�>+>� ,ि>}) �>}/�0}-? – �}?  
(x) __________ ए= 
A/M ��=L�/M �1K+0>}/ ।   

/ञṍजJ?? 

 

अ-=? (OR) 

(�) 
?K}ि}�?-@�=>/O र1्䴹-}>)>}) /ञṍ$K?>�/m-=>]0P: +K10? : 
 })o)}ि}�? @�=>/ /O र1्䴹 -}>) /�$K?> /O }/ए �ए =>]0K @O ?र1ए : 
 Fill in the blanks in the following conversation with the help of 

given sentences in box : 51=5 
अ0?ल: 4 ?K 
$0 ! }��  m=� $>)>}@ 0?M �>}-?/AK/0>)>� $-/}/=@: �/>  

?=}? ? 

अज/: 4 }/} 
})ि ! (i) ___________________ । 
अ0?ल: 4 �/M ! 
]�K-1-/>@-0 }??I0O }/=@O ?J 
-/>��  +K=?�?>)/}-}+: 
}+ 

$-/}/=@: ?=}? । $>)>}@ ?-0 )>/ }�/M ? 
अज/: 4 �/M (ii) ____________________ । 
अ0?ल: 4 >K?)/M । @m0/J्䴹/M । @: ि>ि-A>/J1: >>- }I ?J @Lo0��L }?:, 1>�र?्䴹: 

+र1्䵦/I " �@I?M । 
}-/)M }/)O �ीo�M-=- }>+>� /Kल㉍0� -0K)� ?=}? ?  

अज/: 4 $>)>}/ । (iii) ____________________ । 
अ0?ल: 4 >K?)/M 3 �>/I=- }>+>� })/>?+� ?J �J �I1KoK�O ?=}? । �>/I=- }-})/>?+>0 

�/J�� 0-}� }�/>@I?M ? 


�}0?M, }=">0?, 
>I}?=?I0:, )�1>/M, o�M=>, +र1्䵦/O+, ?}=�0}@, ,ि}-?, 

,ि>}), 
+Lचᩍ#?M ।  
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अज/: 4 }/} ! (iv) ____________________ । 
अ0?ल: 4 >K?)/M । "1�>-0-}� ?J -=?-}?>-/Kि)O=}+ �/J�� @>?)/>@I?M । 

�>/I=- }>+>/M �+0K�� �/J�z+O+ �O  �J =?}-? ?  

अज/: 4 (v) ____________________ । 
अ0?ल: 4 >K?)/M । )O?>1-?J �>/I=- }O?J >K?)>: o�0-?O । >K?)> �ल㉍ =O?>  

=O>?K?> । 
?: @=I: $)P: 
}+ �>/I=- }>+>/M �+0K�: �1+I0: ।  
/ञṍजJ?? 

"1�> 0-}/M �@I?M ।  
$>)O, ्䵦I ि>ि-A>/J1: >>- }I । 
�>/I=- }>+>/M �+0K�� �/J�z+O+ )O?>1: �J =?}-? ।  
�>-?I/AK/0>)>� $-/}/=@: 
]�K-1-/>@-0 }??I0O }/=@O ?=}? ।  

}-/)M }/)O �>/I=- }>+>� /Kल㉍0� -0K)� ?=}? ।  
 

4. 
?K}ि}�?-=>]0O?J �O ?>ञṍ") पञṍच=>]0>)>� @�-�L ?O) 
)J=>/� �J y? ।  
 })o)}ि}�? =>]0K /O @O }�-AK प??च =>]0K �> @�-�L ? /O 
)J=>/ �ी}$ए ।  
 Translate any five sentences in Sanskrit from the following sentences. 51=5 

(i) #>} @�-�L ? �I? �>?O AK ।  
 The students sing a Sanskrit song.  

(ii) $ि AI $I=) AP ।  
 Water is life. 

(iii) 
+?= @�-�L ? +ढ∼?> AP ।  
 Arnav reads Sanskrit. 

(iv) A/ @-  K/)O �O  }िए �>?= $>?O AK ।  
 We all go to village for a tour.  

(v) ?J/ @- �$ }=o>ि0 $>��O ।  
 You all will go to school today.  

(vi) �ि }=o>ि0 /O 
=�>> }> ।  
 Yesterday was a holiday in school.  

(vii) }=o>ि0 �O  ">1K ?1, =L� AK ।  
 There are trees all around the school. 
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  �o): 8�9 
                                           अ0I्䵚0I्䴹-}0?�1+/ ् 20 अ!्�?: 
                                            अ0I्䵚0I्䴹-}0?�1+ 

Applied Grammar 

5. 
?K}ि}�?-=>]0O?J 1O�>!M }�?+/>)>� @}-?� @}-?चᩍ#O/� => �L m=> }ि�? । (�� )?�M�/M �O =ि/M) 

 })o)}ि}�? =>]0K /O 1O�>�}�? +/K �> @}-? 
}=> @}-?-}=चᩍ#O/ �1�O  }ि}�ए । (�O =ि #A �� )) 

 Disjoin or join sandhis in the underlined words of the following 

sentences. (Only six questions)  61=6 

(i) @m0>- ) �/}/?}0/M ।  

(ii) 
} �J ?: �m+-)K=0� /K?: ।  

(iii) 0K�O) + 
-?O ?)Jm0$>/M ।  

(iv) m=0> 0}K}"?� }0=Aर1�0}? ।  

(v) -=>�?/M 
}?}0O ।  

(vi) ??M + 
-=0O >J}्䵍/}? �@K?: ।  

(vii) �>/: िK?: + ?}> िK?: ।  
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6. 
?K}ि}�?-=>]0O?J 1O�>!M }�?+/>)>/M �}"?� @/-?+/� }=्䵇A� => �/m}=�ल㉍+Om0: }"m=> }ि�? ।  
                                                                                                                       (�O =ि� �� )+ञṍ"�/M) 
 })o)}ि}�? =>]0K /O 1O�>�}�? +/K �> �}"? @/-?+/ 0> �}"? }=्䵇A �K �/m }=�ल㉍+K @O 

"J)�1 }ि}�ए । (�O =ि +>?" �� ))  

 Select the appropriate expound from the given choices for the  

underlined words 8@/-?+/9 or 8}=्䵇A9 of the following sentences. 

                                                                                                                                         (Only five questions)  51=5 

(i) �">0>?0 }�0� ?)/>ह㥃m0 �$>?-?J� /> }0=चᩍ#Om@I: ।  

(A) �$>0>: ?-?J/M 

(B) �$>0>� ?-?J/M 

(C) �$>� ?-?J/M 

(D) �$>0P ?-?J/M  

(ii) 0O) 
�>0� �र1�0}? । 

(A) 
)M �>0?/M 

(B) /> �>0?/M 

(C) ) �>0?/M 

(D) �}/ �>0?/M 

(iii) =>्䵍?�O  /J)I)>� =L}m: 0O?>� ?O?>/M ।  

(A) /J)0O-=LmI)>/M  

(B) /J})=LmI)>/M  

(C) /J)I=LmI)>/M  

(D) /J})=Lm0:  
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(iv) m=0> 0}K}"?� }0=Aर1�0}? । 

(A) 0}> �}"?/M     

(B) 0}> 
)J}"?/M  

(C) �}"?� 0}>    

(D) �}"?/M 
)}?िo0  

(v) �K}�ि>)>� /?J1>}+ =">�}@ ्䵦Jm=> @=O �@- )>: ?=}- ? ।  

(A) /?J1=": 

(B) /?J=":  

(C) /?J1=">�}@ 

(D) /?J1="@>/M  

(vi) ?/>?}?�>/>: $I=)O @>?)I0>: । 

(A) ?/?: " 
}?: " �>/: "  

(B) ?/?/M 
}?/M �>//M  

(C) ?/O+ 
}?�>/L 

(D) �>//M " 
}?/M " ?/?: "  

(vii) िm?}//� �>्䵢-0O /)K1}/M ।  

(A) /)@: 1}/M  

(B) /): 1}/M 

(C) /)}@ 1}/M 

(D) /)@O 1}/M 
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7. 
?K}ि}�?-=>]0O?J 1O�>!M }�?+/>)>� @/J}"?� @�0K}$?� }=?>}$?� => ��L }?-�m000K��  
�/m}=�ल㉍+Om0: }")J? । (�O =ि� �� )?�M�/M) 

 })o)}ि}�? =>]0K /O 1O�>�}�? +/K �O  �+0J्䴹 @�0J्䴹 
}=> }=?्䴹 ��L }?-�m00 0K� �K }/ए �ए 
}=�ल㉍+K /O @O "J})ए ।  (�O =ि #A �� ))    

 From the given choices, choose the correct combination of joint or disjoint 

set of suffix for the underlined words in the following sentences.  
                                                                                                                            (Only six questions)  61=6 

(i) ए=/M �+>}@?}0/M ।  
(A) �+ + 
@M + ल㉍0+M 
(B) �+ + �@M + ?}0?M 
(C) �+ + 
@M + ] ? 
(D) �+ + �@M + 
)I01M 

(ii) ?=/}??O�K }) + =L?M + ] ? ।   
(A) })=Lm=>)M  (B) })=Lm0  
(C) })=Lm:  (D) })=>0?  

(iii) 
!M �JिI= �1��?> ।  
(A) �1��? + ] ? (B) �1��? + �>+M  
(C) �1��? + ?}0?M  (D) �1��? + ] ?=?J  

(iv) >?: @A}P1}+ }>�0/>+: ।  
(A) }>�M + /?J+M  (B) }>�M + >?L  
(C) }>�0M + ?}0?M  (D) }>�M + >>)"M   

(v) 1>$>_> +>ि)I0> ।  
(A) +>िM + 
)I01M  
(B) +िM + 
)I01M  
(C) +>िM + )I0>  
(D) +>िM + ?}0?M   
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(vi) }@्䵍K=A� -ि=>)M @J�I ।  
(A) -ि + >>)"M   
(B) -ि + ] ?=?J  
(C) -ि + /?J+M   
(D) -ि + �)M  

(vii) )>}-? /m�L ?O �=�0�?> 
=िo-)-0 ।  
(A) �=�0� + ] ?=?J  
(B) �=�0� + ?िM  
(C) �=�0� + ?}0?M  
(D) �=�0� + �>+M  

8. @/J}"?/M �++/-}=?}्䴹z+� }")J? । (�O =ि� �� )}0/M) 
 �+0J्䴹 �++/ }=?}्䴹 z+ �K "J})ए । (�O =ि ?I) �� )) 
 Choose the appropriate subordinate clause form. (Only three questions) 31=3 

(i) )K)� =@J/?I _______ @/� 0>-0}? ।  
(A) ?Jm0/M  
(B) m=0>  
(C) m=/M  
(D) m=>/M  

(ii) A> }?�M  ________ !  
(A) =0/M  
(B) 
-/>}?:  
(C) 
-/>)M  
(D) 
-/>�/M  

(iii) ________ ) �/}/?}0/M ।  
(A) �J >ि/M  
(B) �J >िO)  
(C) �J >ि>?M  
(D) �J >ि-0  

(iv) 
A/M 
?J)P= ________ +>1/?-/ //>}/ ।  
(A) m=>/M  
(B) ?Jm 0/M 
(C) ?=  
(D) m=0>  
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�o): 8 9 
(i)  प;???�>?=-ो/0/ ् 25 अ!्�?: 

 प;???�> अ=-ो/0 
Reading Comprehension 

9. 
?K}ि}�?� �o>�>� +}?m=> ?/>?>र1?>)M �� )>)M @�-�L ?O) �m1? ।  
 })o)}ि}�? �o>�> �K +ढ∼�1 �@ +1 �?>र1? �� )K �O  �m1 @�-�L ? /O /I}$ए ।  
 Read the following prose passage and answer the questions based on 

them in Sanskrit.  5 

+J1> ?>1>1>जᱍ0O }@-?Jि-@�_K 1>$> }"1� �$>: +0?+>ि0?M । ?-0 =>??]0O 8?K$9 �}? +J}: @/$}) । @: 
0/> +ञṍ"=>}??�-?/> }+?> ्䵨>m/)K $1>� _>m=> /J_0>/>m0>)M �AJ0 
)J$� /Jञṍ$� /A>-ि/>िK]0 
+J}� " ->ि� @�=I�0 }=">10>/>@ – 0oA� 1>जᱍ0ि�/I-?>1?>1+-@/}� @AK/1/M 
+A>0 1>जᱍ0� +J}>0 
�0चᩍ#>}/, ?/> िK�>+=>/: । 
}=> ->ि� /O +J}� /Jञṍ$K 1>जᱍ0िK?>/M }=?>}/)> />1}0�0}? ?/> 
/m/}+ 1>जᱍ0� =L}> । +J}A>}): =�>Kचᩍ#O/ि �}? }=">0? 1>जᱍ0� /Jञṍ$>0 /m=> ?/Jm@!M �O ?K$/>m/>)� 
/J/K" ।  
्䵚� 0?: 

(
) ए�+/O) �m1? : (�O =ि� �� )?0/M)  
 ए� >m/ /O �m1 /I}$ए : (�O =ि /K �� ))  
 Answer in one word : (Only two questions)  2 1

2
=1  

(i) �}-/)M 1>जᱍ0O }@-?Jि-@�_: 1>$> �$>: +0?+>ि0?M ? 
(ii) 1>_: �/> 8?K$9 �}? +J}: @/$}) ?  
(iii) 1>_: }@-?Jि-0 
)J$: �: �@I?M ?  

(�) +K+?=>]0O) �m1? : (�O =ि� �� )?0/M)  
 +K+? =>]0 /O �m1 /I}$ए : (�O =ि /K �� ))   
 Answer in a complete sentence : (Only two questions)  21=2 

(i) }+?> �m/): $1>� _>m=> +J}� " ->ि� @�=I�0 }��  }=">10>/>@ ? 
(ii) +J}A>}): =�>Kचᩍ#O/ि �}? }=">0? 1>_> }��  �L ?/M ? 
(iii) 1>$> ->ि+J}>0 1>जᱍ0�/>)O }�/)}� }"-?0}? ? 

(�) 0}>})/O>/M �m1? : (�O =ि� �� )?0/M)   

 })/O>>)J@>1 �m1 /I}$ए : (�O =ि /K �� ))  
 Answer as directed : (Only two questions)      21=2  

(i) 81>$>9 �}? �?L?+/-0 }ि0>+/� }�/M ?  
(ii) 8
?J)>9 �}? +/-0 }=िK/+//M 
} }��  �0J्䴹/M ?  
(iii) 1>$> /Jञṍ$/M /A>-ि/>िK]0 +J}� " ->ि� @�=I�0 }=">10>/>@ । 
} =>]0O 

8/Jञṍ$/M9 �}? +/-0 }=>O?++/� }��  �0J्䴹/M ?  
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10. 
?K}ि}�?� +o� +}?m=> ?/>?>र1?>)M �� )>)M @�-�L ?O) �m1? ।  
 })o)}ि}�? +o �K +ढ∼�1 �@ +1 �?>र1? �� )K �O  �m1 @�-�L ? /O /I}$ए ।  
 Read the following poetry and answer the questions based on them in 

Sanskrit. 5 

 �+>?/L?� @K}्䴹1@� }=/Jचᩍ0,  

 /K?O?J 0m): @J/A>)M �ि>)>/M ।  
 })1I�?O �O }ि=)� �}=�0,  

 ि/Oि�: �o��$>ि/O= ।। 
्䵚� 0?: 

(
) ए�+/O) �m1? : (�O =ि� �� )?0/M)  
 ए� >m/ /O �m1 /I}$ए : (�O =ि /K �� ))  
 Answer in one word : (Only two questions)    2 1

2
=1  

(i) �O ?>� 0m): /K?O?J ?=}? ? 

(ii) @K}्䴹1@� �ीo>� ?=}? ? 

(iii) �: �o��$>ि� })1I�?O ?  

(�) +K+?=>]0O) �m1? : (�O =ि� �� )?0/M)  
 +K+? =>]0 /O �m1 /I}$ए : (�O =ि /K �� ))   
 Answer in a complete sentence : (Only two questions)  21=2 

(i) }��  }=/Jचᩍ0 �ि>)>� 0m): /K?O?J ए= ?=}? ? 

(ii) ि/Oि�: �J } �}=>}? ? 

(iii) ि/Oि�: �O }ि=)O }��  })1I�?O ? 

(�) 0}>})/O>/M �m1? : (�O =ि� �� )?0/M)  
 })/O>>)J@>1 �m1 /I}$ए : (�O =ि /K �� ))  
 Answer as directed : (Only two questions)     21=2  

(i) 80m):9 �}? +/-0 }=>O?++/� }��  �0J्䴹/M ? 
(ii) 8/J�>)>/M9 �}? +/-0 �L ?O +0>?0+/� }��  �0J्䴹/M ? 
(iii) 8�J+O?J9 �}? +/-0 �L ?O }=िK/+/� }��  �0J्䴹/M ?  
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11. 
?K}ि}�?� )>�M0>�>� +}?m=> ?/>?>र1?>)M �� )>)M @�-�L ?O) �m1? ।  
 })o)}ि}�? )>�M0>�> �K +ढ∼�1 �@ +1 �?>र1? �� )K �O  �m1 @�-�L ? /O /I}$ए ।  
 Read the following part of a drama and answer the questions based on 

them in Sanskrit.  5 

�J ण⍍डल/ 4 +1-+1�I}?/?K: ?=?K: �+/O>-0 )>}-? �K=}+ 
=�>>: ?/>}+ @�I-)OA: />� 
?>?0}? – ?}>? @/P= ?>0>? ???}0> 1}�?}0> " । 0?K }A ?/>?}?-�>/-@�}@्䵍0O 
0}> ?>0>? ??J?: @A>}0)I ?=}? ?}> ) �K=}+ 
-0: । +1-+1/)J}?L +}?+m-0L 
}}=�� @>?0?: । +}?: 0}/ �?K?� ?)/M 
$?}0m=> �LA/>)0}? – ?m�िJ 
+m-0?>=O �J +>}O?J /I0/>)� �0/O}? ।  

ॠ-o?ज: 4  ि�o0>: 1�>}� +m-0>: @A0K�: 
})=>0?: ।  
.//लस/ 4 �J o)िO ! ि�/I+K$>0>� ) /O �=L}m: । 0}/ ि�/I: +Kजᱍ0> }�0> " 
}?}}=0?-0, 

?/> �/>)I/O= /O )/-�>1: । 
्䵚� 0?: 
(
) ए�+/O) �m1? : (�O =ि� �� )?0/M) 
 ए� >m/ /O �m1 /I}$ए : (�O =ि /K �� ))  
 Answer in one word : (Only two questions)    2

2

1
=1  

(i) ?/>}+ �: />� ?>?0}? ? 
(ii) ?}>? @/P= �> ???}0> 1}�?}0> " ? 
(iii) //>ि@>0>: �-0>� ) �=L}m: ?  

(�) +K+?=>]0O) �m1? : (�O =ि� �� )?0/M)  
 +K+? =>]0 /O �m1 /I}$ए : (�O =ि /K �� )) 
 Answer in a complete sentence : (Only two questions)  21=2 

(i) }}=�� �L @>?0?: ? 
(ii) �-/P ?>0>? ??J?: @A>}0)I ?=}? ? 
(iii) +}?: 0}/ -=>}$??� �?K?� ?)� �LA/>)0}? ??M +m-0?>=O ?/M?)� �>� �}?� ?$?O ? 

(�) 0}>})/O>/M �m1? : (�O =ि� �� )?0/M)  
 })/O>>)J@>1 �m1 /I}$ए : (�O =ि /K �� ))  
 Answer as directed : (Only two questions)     21=2  

(i) 8@>?0?:9 �}? }ि0>+/-0 �?L?+/� }��  �0J्䴹/M ? 
(ii) 8})=L}m:9 �}? +/-0 }=िK/+//M 
} }��  �0J्䴹/M ?  

(iii) 8@A>}0)I9 >m/-0 }=>O�0+/� }��  �0J्䴹/M ?   
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12. (�) 
?K}ि}�?-0 +o-0 ?>=>}� /ञṍ$K?>�/m>m/P: +K1}0m=> +J): }ि�? ।  
 })o)}ि}�? +o �> ?>=>}? /ञṍ$K?> /O }/ए �ए >m/K @O ?1�1 +J): }ि}�ए ।  
 Rewrite the gist of the following verse by filling it with the help of 

the words given in the box. 31=3  

 �$>)>� }=)0>?>)>/M 1�+>/M ?1+>/}+ ।  
 @ }+?> }+?1-?>@>�, �O =ि� $-/AO?=: ।।  

  .?=?-य:  
1>$> }/िI+: �$>)>� }=)�?>}>�+>?M (i) __________ ?1+>?M 
}+ (ii) __________ 

�@I?M । ?>@>� }+?1: ?J �O =ि� (iii) ___________ �@)M ।  

/ञṍजJ?? 

 

अ-=? (OR)  
 (�) �/m?>=}0>?M >J्䵍� ?>=>}� }"m=> }ि�? ।  

 }/ए �ए ?I) ?>=>}K /O @O >J्䵍 ?>=>}? "J)�1 }ि}�ए ।  
 Write the correct essence from three essences of the following each 

part.  31=3 

 (
) =O//)Kचᩍ0 �">0?: 
-?O=>}@)/M 
)J>>}-? ।  
 (i) �">0?: =O/� +>?0}? ।  
 (ii) }>�0: =O/� +?}? ।  

 (iii) �">0?: =O/� +>?}0m=> }>�0/M �+}/>}? ।  

 (�) 
+K=?: �ल㉍=-0>0>@: ।  
 (i) 
-0 �0>@: �>�@)I0: । 
 (ii) 
-0 �0>@: }=,ि: । 

  (iii) 
-0 (ि�/+-0) �0>@: })}ि?z+O+ 
}??I0: । 

 (�) 8/0> o*� +1I}�?K=}@ ।9 
 (i) 
A� ?= �}?)+1I�>� �L ?=>)M ।  
 (ii) /0> m=� +1I�0@O ।  

  (iii) m=� /0> @o0�M  o�: 
}@ । 

   }+?>,  $-/AO?=:,  1�+>?M । 
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13. 
?K}ि}�?-्䵨K�-0 �/mO 
-=0O र1्䴹-}>)>}) /ञṍ$K?>�/m->m/>)>� @A>0?0> +K10? ।  

 })o)}ि}�? ्䵨K� �O  }/ए �ए 
-=0 /O र1्䴹 -}>)K �ी +K}?? /ञṍ$K?> /O }/ए �ए >m/K �ी @A>0?> 
@O �ी}$ए ।  

 The prose-order rendering of the following verse is given. Fill in the 

blanks with the help of words given in the box. 31=3 

 /o?K /+K=}?/>)ि िK?: +>y�0/O= " ।  
 
_>)� ">}?$>?-0 +>}? @�+//>@J1I/M ।।  
 

 अन⡍=0: 

AO +>}? ! /o?: (i)  ____________ 
}?/>): " िK?: +>y�0/M ए= " 
_>)� "  

(ii) ____________ @�+//M (iii) ___________ (ि�+/}-?) । 

/ञṍजJ?? 

 

 

14. 8�9 -?o?-0 =>]0>)>� 8�9 -?o?-0 �+0J्䴹=>]0P: @A /Oि)� �J y? । 
 8�9 -?o? �O  =>]0K �> 8�9 -?o? �O  �+0J्䴹 =>]0K �O  @>} }/ि>) �ी}$ए ।  

 Match the sentences of column 8�9 with suitable sentences of column 8�9. 4
2

1
=2   

 ‘�9 म-म⹍-:   ‘�9 म-म⹍-:  

i. ?1?K => ?=O/M 1>$>  1. ?=>o>>)>� �=O>@/0K ?=}? ।  

ii. �">0>?0 }�0� ?)/>ह㥃m0  2. =0� => ))J ?m@//M ।  

iii. /A>1>$-0 @- o 0K+>@)@/0O  3. ?K$: }�/}+ =m@1>$� �}}?=>)M ।  

iv. �m/)K =?0K$)>� _>m=>  4. �$>?-?J� /> }0=चᩍ#Om@I: ।  

  �@J1I/M,  /+?:,  
}?$>?-0 । 
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15. 
?K}ि}�?-=>]0O?J 1O�>!M }�?-+/>)>� �@!M �>)J@>1� >J्䵍/M 
}� /ञṍ$K?>?: }"m=> }ि�? ।  
 })o)}ि}�? =>]0K /O 1O�>�}�? +/K �> �@��>)J@>1 >J्䵍 
}? /ञṍ$K?> @O "J)�1 }ि}�ए ।  

 Choose and write the appropriate meanings of the underlined words in 

the following sentences with the help of the words given in the box.  4
2

1
=2 

(i) �@्䴹>: �>/?K�O?J +?}-? )1�O -
>J"L । 
(ii) )P�O )>}+ @/� �?> =@J/?I ।  
(iii) @=?-0 िK")� >>- }/M ।  
(iv) m=>o>> ए= =-?J?: +J1-�>1?>$)>}) ?=}-? ।   

 /ञṍजJ?? 

 
 

    �o): 8 9 

                     (ii) @�त�K ?@?;Am0त0 @?/?न⡍0पर1च0: 10 अ!्�?: 
                                     @�त�K ? @?;Am0 �? @?/?न⡍0 पर1च0 

                General Introduction to Sanskrit Literature 

16. 
?K}ि}�?-�� )>)>/M �m1>}+ }ि�? । (�O =ि� �� )}0/M)  
 })o)}ि}�? �� )K �O  �m1 }ि}�ए । (�O =ि ?I) �� ))   
 Answer the following questions. (Only three questions) 31=3 

(i) 8/>?J1>_> �1I0@I9 �}? +>?: �-/>?M +J-?�>?M @��LAI?: ?   

(ii) 8}>=1>$}=$0/M9 �}? ्䵇-}-0 1")>�>1: �: ? 

(iii) 8�$>)J1ञṍ$�K )L+:9 
-0 +>?-0 िO��: �: ?  

(iv) 8//>ि@>9 +>?-0 िO}��> �> ? 

 

  +Lm=I,  
+}=}O,  +>}>}+,  )O}/M । 
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17. /ञṍ$K?>0>� �/m>m/>)>� @>A>o0O) र1्䴹-}>)>}) +K1}0m=> }ि�? । (�O =ि� �� )}0/M)  
 /ञṍ$K?> /O }/ए �ए >m/K �ी @A>0?> @O र1्䴹 -}>)K �ी +K}?? �1�O  }ि}�ए । (�O =ि ?I) �� ))  
 Fill in the blanks with the help of the words given in the box. 

                                                                                 (Only three questions)  31=3 

(i) }>>J+>ि=?-/A>�>}0/M _______ 1")> 
}-? ।  
(ii) /}o)): �>}0O?J _______ �}@्䵍/}-? ।  
(iii) �o+o/0� �>}0/M _______ �m0?O ।   
(iv) �+/>�}@्䵍: _______ 
}-? ।  

/ञṍजJ?? 

 

18. @/J}"?� /Oि0? :  

@/J}"? }/ि>) �ी}$ए :  
Match properly : 41=4 

i. )>�M0>>- }/M 1. ->+?ि:  

ii. )>��-0 
-?O  2. �>}ि/>@:  

iii. �>/o-1I  3. ?1?=>]0/M  
iv. 
}?_>)>>�J -?ि/M  4. ?1?/J}):  

  

   �>}ि/>@:,  "o+K:,  /> -0,  +/ि>}िm0/M । 

 


